Many people believe that main aim for university education is to help graduates to find a better job, while other people believe
that university education has Wider benefits for individual and society. Discuss both views and give your opinion.
\We'can see more-disasters and violence shown on TV news .What are its causes and what effects will they exert on the

individual and the society?
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Sample Discuss the advantages and disadvantages of media.
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Sample Some people do their housework by hand while others use machines. Discuss
the advantages and disadvantages of this development.

o E=X IR RERMBRIER
Sample The rate of juvenile delinquency is rising in current society. What are the causes
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and how can people solve it?

¢ Emk MARACUR
Sample Advertising is having a bigger influence on our daily lives. Some people
believe the negative effects of advertising outweigh the positive effects.
What's your opinion?
cEhE BREER
Sample Some people think we are spending too much money on keeping pets. The
money should be spent on protecting wild animals instead. Do you agree
or disagree?
Eok RER
Sample We can get knowledge from news, but some people think we can't trust
journalists. What do you think? What qualities should a good journalist have?

$E% RN
Sample Who should pay the costs for higher education: all paid by government, all
paid by students, all paid by students using a loan and repaid after graduation?
Compare the benefits and choose one you think best.
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-k HRATRETE (BRE)
BT IRRAAKRTE (BRE+HEER)
B DRAERKRTH (EXRE+HEE)
Yo B MERALEERE (S ERBERNEAE)
o ERE DRAREEER (3 LR it REMNBREBENER )
o ERE BRREERE (BARE)
i ELE AIRAEERE (EFXE2)
CEN\E BRARRER ($hx LR REMBRIERENEE)
o FELE ARAHARREX
THEHEFHANA
CEk MRAREFE (BAR)
F—B. L (BUKR, FLUR. 550FE4R)

EE L (580~90F)
F=B. ¥ (580~90%F)
FE. ZR (BEALTER. 2RNETERT. 550FEH)
=45 . Discuss the advantages and disadvantages of media.

F—B Fk (BWEFER, FLU=S, B50F4LAH)

E 2 mediafIiF4a (580~905F)

E=F. mediafy¥im (580~90F)
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F—B. Ik (BYKFR, F8UR. B50FER)

B AR (580~90%F)

=K. BthEHFL (580~90F)

BNk HR (FRALER, £RNEFER. 550FE£H)

#£1]. Some people think that the government should invest more in weapons and
national defense. Others think this money should be invested in arts and
facilities such as stadiums. Discuss both views and give your own opinion.

R (BURR, T8 =, 550F4A%R)

ERR mvestmg more in weapons and national defensefJ%f4: (580~90%F)
% — % investing in arts and facilities such as stadiumsfJ#F4 (580~905F)
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=445 . Advertising is having a bigger influence on our daily lives. Some people
believe the negative effects of advertising outweigh the positive effects.
What's your opinion?

E— Fk (550FER)

EBR. TEMER (550~60F)
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(Bt BXFH., 550F4£HR)

=545 Advertising is having a bigger influence on our daily lives. Some people

believe the negative effects of advertising outweigh the positive effects.
What's your opinion?
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We can get knowledge from news, but some people think we can’t trust
journalists. What do you think? What qualities should a good journalist have?
3k (E50FER)

6% % — N5} @ What do you think? (FHEE)

[ %% — /s #What qualities should a good journalist have? (F£#(EE)
%R (550F44H)
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The rate of juvenile delinquency is rising in current society. What are the
causes and how can people solve it?
Fk (B50FEH)

5 Hjuvenile delinquency=%Z M ERE (100~120F4.F)
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FhE. HRE (ERACUMR. 550F4Lh)

=431, Advertising is having a bigger influence on our daily lives. Some people
believe the negative effects of advertising outweigh the positive effects.
What'’s your opinion?

Fk (BUBFRR, fEM=, S50F4£4R)
SHERZGARE— (50~60F)
EHEERZGAEEZ (50~60F)
SHERZGTAEE= (50~60F)
ZRE (ERECWR. 550F4%F)

£Lx ARAZEERE

BBk (BURAR, SN =, B50F LK)
B BEHERBRREE— (50~60F)
£-F BHRZKREAZ (50~60F)
Fk. BHRRER= (50~60F)
L. HE (ERACUR. 550F4kh)
=43l Advertising is having a bigger influence on our daily lives. Some people
believe the negative effects of advertising outweigh the positive effects.
What's your opinion?
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The rate of juvenile delinquency is rising in current society. What are the
causes and how can people solve it?
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=445 . Advertising is having a bigger influence on our daily lives. Some people
believe the negative effects of advertising outweigh the positive effects.

\1i
iy
4

What's your opinion?
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4. SINETE

s
Successful sports professionals can earn a great deal of more money than people

in other important professions. Some people think it is just justified while others think
it is unfair. Discuss both these views and give your own opinion.



